Assignment 22

Ex 15.6.4 Evaluate / xydV over the interior of the cylinder as
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Ex 15.6.5 Evaluate / / / dV over the region above the z-y plane,
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Ex 15.6.8 Evaluate / / / \,,r’"‘mz + y? dV over the interior of

a‘+y+~—.
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Ex 15.6.10 Find the mass of a right circular cone of height h and base
radius a if the density is proportional to the distance from the base.

—\ CL%’CI/:\QL'L\’%— >

2T 0 . I

(G e len) ramarie
2 0 0 b
[
- T.Q ,h
:QR ([ b2 S
Y o 0 %V "
_ xzarr&a \«\@:’”5—\ drd B
o ¢ e W
2 O _ 0
:& S e A e G R g
on 2. o = o
&kl ("Lrla— E\L’trg&rw
0 © a
T O B e
/; f: . s >0 A
o
O
:g]s,\f k\,\zoj" ~ \fﬁﬁ—- an Q\J\ A:é_
el i3 g G*>
0 27 2+ 1
a0 2 R e = ,—A/@
:K?WJ’- (_\_\; r B&b &\Lk\o. 5
v @)
= — =
& 9\ - ~ ¢ n | 2
- Y 0



Ex 15.6.11 Find the mass of a right circular cone of height h and base
radius a if the density is proportional to the distance from its axis of
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